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Management 203 - Managerial Economics

Problem Set 1
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1. 

a. Factors that might impact demand for the Queen Mary 2 luxury liner include but are not limited to:

· New terror threats

· Competition from other luxury liners

· Lower prices from competitors

· New food poisoning occurrences

b. Factors that will impact supply for new luxury liners include but are not limited to:

· Costs of labor

· Costs of other supplies

c. It is extremely difficult to forecast demand for a product years in advance.  In today’s society, trends and demand for new products and services can change overnight.  Looking at the example of the Queen Mary 2, there is no way possible that the designers could have predicted the atrocities of September 11, 2001, or the multiple instances of food poisoning on other luxury liners.  It just is too difficult to accurately predict events in the future which makes it a huge gamble to invest in a product of the magnitude of Queen Mary 2, for losses could be great.

2.  The Marginal Rate of Substitution, or MRS, must be equal to the ratio of the prices of the goods for the consumer to maximize satisfaction.  If you break the MRS down into the form of an equation, it would look something like:  P1S1 = P2S2, where P and S represent the relative price and satisfaction of each good, respectively.  Imagine a scenario where the satisfaction from each good was equal, and P1 was higher than P2.  This would leave the equation skewed, meaning that the maximum rate of consumer satisfaction had not been met.
3.  

a. Meat:  $4/pound
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Potatoes:  $2/pound

b. U(M,P) = 2M + P.  After looking at the utility curve and the levels of satisfaction obtained from each location on the curve, it seems that at each location along the curve the relative level of satisfaction will be equal, at a value of 100.
	Meat Pounds
	Potato Pounds
	U(M,P)=2M+P

	50
	0
	100

	40
	20
	100

	30
	40
	100

	20
	60
	100

	10
	80
	100

	0
	100
	100


c. Buy first 20 pounds of potatoes, get 10 free.
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d. Potato rot raises price of potatoes to $4/pound.  Any combination of meat and potatoes will maximize her utility.
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4.

a. Computer chip elasticity:  -2

Disk drive elasticity:  -1

If the prices for each of their products are increased by 10%, sales for computer chips would drop 20%, and sales for disk drives would drop 10%.  Sales revenue for computer chips would drop 12% ((1-.2) * (1+.1)), while sales revenue for disk drives would drop 1% ((1-.1) * (1+.1)).
b. In order to calculate which product would generate the most revenue for the firm, you would have to know the price of each product, as well as the original quantity demanded.
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